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• � �� mν� � � �� � �� � � � � � � � �� � � � � �� � � � � � � � � �� � �� � � � � � �� � � � � �
• � � � � � � CS� � � C�

S� � � � �� � � �� � � � � � � �� � � �
� � � �� � � � � � � � � � �� � � � � � � � �� � � � �

Tr
�

γ0(1 − γ5)(� k − mν)γ0(1 − γ5)(� k� + me)
�

� � �� � � � �� � � �� � � �� �� � � �� � �� �� �� � � � � � � �

Tr
�

(CS − C�

Sγ5) � k(CS + C�

Sγ5)(� k� + me)
�



Tr �� � � � � � � � � � � γ
� � �� � � �� me� � �� � � � � ��

Tr
�

(C − C�γ5) � k(C + C�γ5) � k�
�

=

Tr
�

C2 � k � k� − C�Cγ5 � k � k� + CC� � kγ5 � k� − C
�
2γ5 � kγ5 � k�

�

γ5γµ = −γ5γµ, γ5γ5 = I

Tr
�

C2 � k � k� − 2C�C(γ5 � k � k�) + C
�
2 � k � k�

�

Tr(γ5 � a � b) = 0

= (C2 + C
�
2)Tr(� k � k�)

use Tr(� a � b) = 4a · b

= (C2 + C
�
2)4(EβEν − �pβ · �pν)

= 4EβEν(C2 + C
�
2)

�

1 −
�pβ · �pν

EβEν

�

⇒ β� ν �� � � � �� � �� � � � � � �� � � �� �� � � �� � �� �� �� �


